DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO SO

RRB GROUP D

TEST SERIES

(ATE- - /\

ﬂ\ISTRUCTION FOR CANDIDAT\

ﬁEST SERIES Na

o)

) k SGSetOB)

QUESTION- 100 MARKS- 100

NEGATIVE MARK- 0.33

DURATION- 90 MIN.

1. Use only ball pens with black or
blue ink

2. As soon 3s the examination
starts, you must check this
question booklet and if there is
any unprinted, mutilated or
partially printed page or question
in it, then replace it with the
correct question booklet through
the examiner.

3. There are a total of 100

questions in this question booklet.

4. This is an objective test, in
which Four options are given For
the answer to each question, you
have to choose only one option
with the correct answer out of
these Four options.

5. Answers to all questions are to
be written on separate answer
sheets.

6. Instructions for Filling the
answer sheet are written on the
back side of the answer sheet,
read them carefully before filling
the answer sheet.

7. Blank pages are available in this
questlon booklet For rough work.
8. Candidates cannot leave the
room before the end of the
examination.

9. AFter the examination is over,
you can go out only with his
permission after submitting the
ORIGINAL COPY of the answer
sheet to the invigilator.

10. After the completion of the
examination, the candidate is
allowed to take the question
booklet and answer sheet with
him/her.

11. 1 marks will be given For each
correct answer and 0.33 marks will
be deducted for each wrong
answer.

Szimsmcb

Spardhaguru India Private Limited

Email ID:-

10 Years of Excellence

Spardhaguru India Private Limited

Website:- www.spardha.guru

info@spardha.guru

ADDRESS:- No 8, 24th Block Manasi Nagar Beside of
Bliss serviced Apartment, Mysuru, Karnataka 570029

HELPLINE 90711 54445, 90711 64446, 90711 74447




Website:- www.spardha.guru

Email 1D:- info@spardha.guru

qaj Ariggtien Spardhaguru India Private Limited
G

Spardhaguru India Private Limited

10 Years of Excellence

ADDRESS:- No 8, 24th Block Manasi Nagar Beside of Bliss serviced
Apartment, Mysuru, Karnataka 570029

HELPLINE 90711 54445, 90711 64446, 90711 74447

Total: 100 Que.

Group D
1). When a sperm fuses with an ovum, the process
is called
(a) fertilization (b) pollination (c) implantation

(d) embryogenesis

2). Zygoteis an
(a) Haploid (b) Diploid (c) tetrapoid (d) Triploid

3). Fertilization occurs in region.

(a) Vagina (b) Cervix (c)Ampullary (d) Uterus

4). How many of the statements are correct?
I. MTP was legalized in India in 1971.
II. Family planning was initiated in 1940.

Ill. Boyer and Cohen synthesized first rDNA in
1989.

IV. Insulin and thyroxine are hyperglycemic
hormone.

(a) Only IV is correct  (b) Only Il is correct

(c) All are correct (d) | is correct

5). Statement-I Genital herpes and sickle cell
anaemia are genetic disorder.

Statement-Il AIDS, genital warts and hepatitis are
caused by bacteria.

(a) Both statements are correct
(b) Both statements are incorrect
(c) Only | statement is correct

(d) Only Il statement is correct

6). Consider the following statements and select the
option stating which ones are true (T) and which
ones are false (F).

(i) There are many side effects of tubectomy and
vasectomy.

(i) Purpose of tubectomy is to prevent egg
formation.

(iii) Contraceptive oral pills help in birth control by
preventing ovulation.

(iv) Genital warts is a sexually transmitted disease
caused by herpes virus.
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(v) In India, there is rapid decline in infant mortality
rate and MMR.

(a) (i)-T (ii)-F (iii)-T (iv)-F (V)-F
(b) (i)-F (ii)-F (iii)-F (iv)-T (V)-T
(c) (i)-T (ii)-T (iii)-T (iv)-F (V)-F
(d) (i)-F (ii)-F (iii)}-T (iv)-F (V)-T

7). Read the given statements and select the correct
option.
Statement 1 : Hepatitis B virus (HBV) is never
transmitted through sexual contact with the
infected person.
Statement 2 : HBV vaccine is a third generation
vaccine produced by recombinant DNA
technology.

(a) Both statements 1 and 2 are correct.

(b) Statement 1 is correct but statement 2 is
incorrect.

(c) Statement 1 is incorrect but statement 2 is correct.

(d) Both statements 1 and 2 are incorrect.

8). The number of protons, neutrons and electrons
in Lu, respectively, are

(a) 71,71 and 104 (b) 175, 104 and 71
(c) 71,104 and 71 (d) 104, 71 and 71

9). The rate constant for a first order reaction is

4.606 x 102 s~1. The time required to reduce 2.0
g of the reactant to 0.2 g is:

(a)500s (b) 1000s (c)100s (d)200s

10). Identify a molecule which does not exist.

(@ Cz (b)Oy (c)Hep (d)Li;

11). Find out the solubility of Ni(OH), in 0.1 M
NaOH. Given that the ionic product of Ni(OH), is
2%

(@1x10""3M (b)1x108M (c)2x107"3M

(d)2x108Mm

12). On electrolysis of dil. sulphuric acid using
Platinum (Pt) electrode, the product obtained at
anode will be

(a) HsS gas  (b) SO, gas (c) Hydrogen gas
(d) Oxygen gas



13). Which of the following is not correct about
carbon monoxide?

(a) The carboxyhaemoglobin (haemoglobin bound to
CO) is less stable than oxyhaemoglobin.

(b) It is produced due to incomplete combustion.
(c) It forms carboxyhaemoglobin.

(d) It reduces oxygen carrying ability of blood.

14). The number of Faradays(F) required to produce
20 g of calcium from molten CaCl, (Atomic mass

of Ca=40g mol'1) is
(@3 (b)4 (c)1 (d)2

15). Sucrose on hydrolysis gives
(a) a-D-Glucose + B-D-Fructose
(b) a-D-Fructose + B-D-Fructose
(c) B-D-Glucose + a-D-Fructose
(d) a-D-Glucose + B-D-Glucose

16). Which of the following statement is not true
about the two parallel current carrying conductors?

(a) The force only exists between the wire when the
wires are kept closer to each other.

(b) If the direction of flow of current in both the wire is
same than the wires attract each other.

(c) If the direction of flow of current in both the wire is
opposite than the wires repel each other.

(d) Newton'’s third law is applicable as the force
exerted by wire A on the wire B is equal and opposite
to the force exerted by the other wire B on wire A,

17). Which of the following statement is true about
the AC generator?

(a) It works on the principle of electromagnetic
induction.

(b) A pair of slip rings are used in the AC generator

(c) It converts the mechanical work into electrical
energy.

(d) All of the above.

18). Ina LC circuit,
(a) the total energy in the system remains constant
(b) the energy is zero

(c) the energy in the system oscillates between the
capacitor and the inductor.

(d) Both Aand C

19). Force on any charge due to a number of other
charges is the vector sum of all the forces on that
charges, taken one at a time is termed as

(a) Electric Force (b) Principle of superposition
(c) Electric field (d) Gauss law

20). In electromagnetism, which equation defined in
terms of the rate of change of electric
displacement field

(a) Hertz's equation (b) Maxwell's equation

(c) Ampere's equation  (d) Macroni's equation

21). The is used to provide angular
magnification of distant objects.

(a) Microscope (b) Telescope

(c) Electron microscope (d) None of the above

22). For which gates outputis 1 for input 1 and 0.
(a) AND & NAND (b) NAND & NOR
(c) NAND & XOR (d) XOR & AND

23). The types of charges are

(a) Positive and negative charge

(b) Good and bad charge (c) Positive charge
(d) Negative charge

24). In ICs, the components are assembled on
which surface?

(a) Metal (b) Semiconductor (c) Non-conductors

(d) Superconductors

25). Which of the following statements is true?

(a) In forward bias mode the depletion region across a
p-n Junction increases in comparison to unbiased
state.

(b) Conductivity of a semi-conductor decreases with
the increase in temperature.

(c) In reverse bias mode a p-n junction conducts a
very weak current due to ‘Drift’ current across it's
junction.

(d) A Light emitting diode (LED) is connected in
reverse bias mode.

26). Select the option that is related to the third term
in the same way as the second term is related to
the first term.

?2.ZV i IM:RN

(3 EA (b)AB (c)IE (d)AE

27). Select the option that is related to the third term
in the same way as the second term is related to
the first term.

NINE : ENIN :: FROM : ?



(a) MROF (b) MOFR (c) MORF (d) MRFO

28). Study the two different positions of a cube
given below with dots from 1 to 6 marked on its
faces. Find out how many dots are contained on
the face opposite to that containing 4 dots.
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(@1 (B2 (€)3 (d)5

29). Which answer figure will complete the question
figure?

(2) (3)

(d)

%
RCIRE
&

30). Anitha walked 20 km towards north. Then she
turned right and walked 30km. Then she turned

right and travelled 35 km. Then she moved left and

walked 15 km. Finally she turned left and walked
15 km. In which direction is she from the starting
point?

(a) South (b) North (c) East (d) West

31). Consider the given statement/s to be true and
decide which of the given
conclusions/assumptions can definitely be drawn
from the given statement.

Statement:

1) Some girls are stars.

2) Meena is a girl.

Conclusion:

|. Meena is a star.

Il. Some stars are not girls is a possibility.

(a) Only Conclusion | follows
(b) Only Conclusion Il follows

(c) Both Conclusions | and Il follows

(d) Neither conclusion | nor |l follows

32). Which of the answer figure is exactly the mirror
image of the given figure, when the mirror is held
on the line AB ?

A

® /N | © Aﬂk

(a)

(d)

A
A
A

33). Afather asks his son “ A group of the alphabets
are given with each being assigned a number.
These have to be unscrambled into a meaningful
word and correct order of letters may indicate from
the given responses”. What will be the correct
sequence?

R E P o C u M T
2 3 4 5 6 7 g

(a)6,2,3,74,1,58 (b)4,3,1,6,2,7,82
(c)547,36821 (d)7,3,614,258

34). In the following guestion, select the missing
number from the given alternatives.

i0 9 8
5 11 g
5 3 4
18 33 £

(a)16 (b)19 (c)21 (d)23

35). Apiece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened?

>

©)(6%) @

(a)

I DRC,
;

Ao »

36). From the given answer figures, select the one
in which the question figure is hidden/embedded.

LN

(x)



(a) (b)

(c) @[ | [A ]

37). Aseries is given, with one word missing.
Choose the correct alternative from the given ones
that will complete the series.

Bound, Factor, Habitat, Jealousy, ?

(a) Limonite (b) Pacemaker (c) Objections
(d) Magnetised

38). In the following question, two statements are
given each followed by two conclusions | and Il.
You have to consider the statements to be true
even if they seem to be at variance from
commonly known facts. You have to decide which
of the given conclusions, if any, follows from the
given statements.

Statements:

1. Only first division holders are admitted.
2. Ram is a first division holder.
Conclusions:

|. Ram is admitted.

II. Only Ram is admitted.

(a) Conclusion | follows (b) Conclusion Il follows

(c) Neither I nor Il follows (d) Both | and Il follows

39). Shila is the daughter-in-law of Riya’s mother-in-
law. Riya's husband has a younger brother. How is
Riya related to Shila?

(a) Sister (b) Mother (c) Daughter

(d) Sister-in-law

40). Pointing towards a man in a photograph Ram
said, " He is the son of the mother of the brother of
my sister". How is the man in the photograph
related to Ram?

(a) Father (b) Uncle (c) Brother in law
(d) Brother

41). A series is given with one term missing. Select
the correct alternative from the given ones that will
complete the series.

3,4,6,8, 12, 14, 18, ?
(@21 (b)22 (c)20 (d)24

42). In the following Venn-diagram, shows
information about the women, rural and literate.

Which region represents rural literate women?

@8 (b)7 ()5 (d)9

43). ‘Knife’ is related to ‘Chef’ in a same way ‘Saw’
is related to-

(a) Carpenter (b) Labourer (c) Farmer (d) Mason

44). Which letter will replace the question mark (?7)
in the following series?

D,J, 7,8,V X
@P (b)O ()M (d)Q

45). In the following question, select the related
number from the given alternatives.

3:5:.8¢ ?

(a)55 (b)44 (c)43 (d)45

46). Six laptops P, N, Q, L, R and A, are placed in a
row facing towards the north (not necessarily in
the same order). N is placed to the immediate left
of A. R is placed second to the left of Q. P is
placed second to the right of A. P is placed to the
immediate right of R. L is placed to the left of N.
which laptop is placed to the immediate right of L?

(@N (b)Q ()P (dA

47). In a certain code language, ‘6532’ is written as
‘3467'. What will be the code for ‘7915’ in that code
language?

(a) 2084 (b) 3939 (c) 1463 (d) 2658

48). A question and two statements labeled () and
() are given. You have to decide which
statement(s) is/are sufficient to answer the
guestion.

Question:

On which day of the week will Vimal celebrate his
birthday?

Statements:

I. Itis in February and 215t

Tuesday.

of February is a

II. It is on the last day of the month.

Select the right option from the following.



(a) Both the statements together are sufficient
(b) Statements Il alone is sufficient
(c) Data insufficient

(d) Statement | alone is sufficient.

49). A question and two statement labeled (I) and
(1) are given. You have to decide which
statement(s) is/are sufficient to answer the
question.

Question:

Among four friends — Arjun, Pavan, Neeraj and
Sunil, who is the heaviest?

Statements:
I. Arjun and Pavan are of the same weight.

Il. Pavan weighs more than Neeraj, but less than
Sunil.

Select the right option from the following

(a) Statement | alone is sufficient.
(b) Both the statements together are needed.
(c) Statement Il alone is sufficient.

(d) Either | or Il alone are sufficient.

50). A question and two statements labeled (1), (II)
are given. You have to decide which statement(s)
is/are sufficient to answer the question.

What is Rashmi’s rank in the class?

|. There are 25 students in the class.

Il. There are 8 students who have scored less than
Rashmi.

(a) Both the statements together are needed.
(b) Statement | alone is sufficient.
(c) Statement Il alone is sufficient.

(d) Either | or Il alone is sufficient.

51). In the following question, one statement is
followed by two Assumptions | and Il. You have to
consider the statement to be true, even if they
seems to be at variance from commonly known
facts. You have to decide which of the given
assumption(s), if any, follow(s) from the given
statement.

Statement: “The 'A’ brand has the largest sale of
all the cars manufactured in India”.

Assumptions:

|. The manufacturing of brand ‘A’ cars is highest in
India.

Il. No other brand manufactures cars in India.

(a) If only assumption | is implicit.

(b) If only assumption Il is implicit.

(c) If neither I nor Il is implicit.
(d) If both | and Il are implicit.

52). In the following question, one statement is
followed by two Assumptions | and Il. You have to
consider the statement to be true, even if they
seems to be at variance from commonly known
facts. You have to decide which of the given
assumption(s), if any, follow(s) from the given
statement.

Statement: “Ram applied for a loan by mortgaging
his house to the bank”.

Assumptions:

|. The bank accept house as a security against
loans.

Il. Ram needs money to buy a house.

(a) If only assumption | is implicit.
(b) If only assumption Il is implicit.
(c) If neither | nor Il is implicit.
(d) If both | and Il are implicit.

53). Select the letter-cluster that can replace the
question mark (?7) in the following series.

FDB, KIG, PNL, USQ, ?

(@) YXZ (b)XVZ (c)VXZ (d) ZXV

54). If PINE is written as SLQH, then how will you
write ATE?

(a) DWH (b) WEI (c) EWI (d) EUG

55). Rachel starts walking towards North. After
walking 15 metres, she turns towards South and
walks 20 metres. She then turns towards East and
walks 10 metres. Then, again, she walks 5 metres
towards North. How far is she from her starting
point and in which direction?

(a) 10 metres, West (b) 5 metres, East
(c) 5 metres, North  (d) 10 metres. East

56).
1 .1 .3 (3 1 3).
The value of 2—+2—of 1-+| —+—xl—|is
3 2 5 \8 4)
2 25 5 35
@22 323 (3 (@3
24 24 24 24

57). The given pie chart shows the percentage
distribution of 450 employees in an organization.
Read the pie chart and answer the question that
follows.



Percentage of Employee in different
Departments (Total 450 Employees)

What is the Central angle of the sector
representing the number of employees in
department E?

(a) 36° (b)108° (c)72° (d)90°

58). The length of the shadow of a vertical pole on
the ground is 36 m. If the angle of elevation of the
13

sun at that time is @ such as (a4 =2~ then what

is the height (in cm) of the pole.
(@a)12 (b)9 (c)18 (d)15

59). The two parallel sides of a trapezium are 17 cm
and 15 cm, respectively. If the height of the

trapezium is 6 cm, then its area (in m2) is:
(a) 9.6 (b)960 (c)0.96 (d)0.0096

60). A bus covers a 60 kilometre distance in 1 hour
30 minutes, whereas the same distance is covered
by a car in 45 minutes. What is the ratio of the
speed of the car to the speed of the bus?

(@21 (b)1:2 (c)3:5 (d)5:3

61). The value of
0.325x0.325+ 0.175»0.175 + 25x0.00455 i 0.5

5x0.0065x3.25 - 7x0.175x0.025 i

is

@ ®3 ©o (@’

2
3 3

62). If Sin 3x = cos (3x - 45°), 0° < 3x <90°, then x is
equal to

(a) 35° (b)45° (c)22.5° (d)27.5°

63). The remainder when 72 x 73 x 78 x 76 is
divided by 35 is :

(@12 (8 (c)22 (d)15

64). The least number which is exactly divisible by
4,5, 8, 10and 12 is:

(a) 150 (b) 240 (c)180 (d) 120

65). A person covers a distance of 300 km and then
returns to the starting point. The time taken by him
for the outward journey is 5 hours more than the
time taken for the return journey. If he returned at
a speed of 10 km/h more than the speed of going,
what was the speed (in km/h) for the outward
journey?

(a)30 (b)15 (c)25 (d)20

66). Aand B can do a piece of work in 36 days. B
and C can also do the work in 60 days. Aand C
can do the same work in 45 days. In how many
days can B alone complete the same task?

(a)90 (b)60 (c) 120 (d)45

67). Ifx2—3x + 1 =0, then the value of

[ 4. 11 LY
|x'+—_v;+ﬂx‘+lh'3-
x° )

@5 ()6 ()7 (d)9

68). The area of a field in the shape of a hexagon is
1944 qﬁm: . What will be the cost (in Rs) of

fencing it at the rate of Rs. 11.50 per meter?
(a) 2,256 (b) 3,200 (c)2,785 (d)2484

69). Pipe A, B and C can fill an empty tank in 30 /7
hours, if all the three pipes are opened
simultaneously. A and B are filling pipes and C is
an emptying pipe. Pipe A can fill the tank in 15
hours and pipe C can empty it in 12 hours. In how
long (in hours) can pipe B alone fill the empty
tank?

(@4 (b)6 ()3 (d)S

70). The monthly salary of a person was Rs. 75,
000. He used to spend on family Expenses ( E ),
Taxes(T), Charity (C ) and rest were his saving. E
was 60% of the income. T was 20 % of E, and C
was 156% of T. When his salary got raised by 40%,
he maintained the percentage level of E, but T
became 30% of E and C became 20% of T. The
ratio of the savings of his earlier salary to all of his
present salary to that of his present salary is:

(a) 655:644 (b) 325:337 (c) 644:655 (d) 337:325

71). A man brought an article and sold it at a gain of
10 %. If he had bought the article at 20% less and
sold it for Rs. 1000 more, he would have made a
profit of 40%. The earlier selling price of the article
(in Rs) is:

(a) 40,000 (b) 50,000 (c) 60,000 (d) 55,000

72). If the average price of three chairs is Rs. 14,
014 and their prices are inthe ratioof 3: 4 : 7,
then the highest price (in Rs.) of chair is:

(a) 3,003 (b) 1,001 (c)21021 (d) 5,005



73). If the difference between the compound interest
and simple interest at 17% on a sum of money for
2 year (compounded annually) is Rs. 433.50, then
the compound interest (in Rs. ) is:

(a) 2,500 (b) 2,735.50 (c)2533.50 (d) 5,100

74). A man spends 75% of his income. If his income
increases by 28% and his expenditure increases
by 20%, then what is the increase or decrease
percentage in his saving?

(a) 52% increase (b) 13% decrease

(c) 13% increase (d) 52% decrease

75). A single discount equivalent to three successive
discounts of 6%, 15% and14% is:

(a) 68.714% (b) 34.357% (c) 31.286% (d) 17.5%

76). The students of a class donated a sum of Rs.
2,809 to the funEach student donated as many
rupees as the number of students in the class. The
number of students in the class is:

(a)47 (b)51 (c)49 (d)53

77). Asum of Rs. 8,200 was divided among A, B,
and C in such a way that A had Rs. 500 more than
B and C had Rs. 300 more than A . How much was
C’s share (in Rs.)?

(a) 2,300 (b) 2,000 (c)2,800 (d)3,100

78). Aand B can do a piece of work in 25 days. B
alone can do 66 2/3% of the same work in 30
days. In how many days can A alone do 4/15 part
of the same work?

(@15 (b)20 (c)18 (d)12

79). Aand B started a business investing amount of
Rs. 92,500 and Rs. 1,12,500, respectively. If B's
share in the profit earned by them is Rs. 9,000.
What is the profit (in Rs.) earned by A?

(a) 9,000 (b) 7,400 (c) 11,240 (d) 10,000

80). Asha and Suman’s mud forts have respective
heights of 9 cm and 16 cm. If the tops of the fort
are 25 cm apart from each other, then the distance
(in cm) between two forts is:

(a)24 (b)16 (c)7 (d)25

81). Palk Strait is located in which of the following
oceans?

(a) Pacific Ocean (b) Atlantic Ocean

(c) Arctic Ocean (d) Indian Ocean

82). Which of the following became the first Dalai
Lama to visit the U.S. and travel the western

world?

(a) Tenzin Gyatso (b) ThubtenGyatso
(c) TrinleyGyatso (d) KhedrupGyatso

83). Who was honoured with the medal 'Kaisar-i-
Hind' for her work during the plague epidemic in
India?

(a) Annie Besant (b) Sarojini Naidu
(c) Indira Gandhi (d) TarabaiShinde

84). Which of the following facts related to the
Himalayan Mountain is not true?

(a) Himalayan mountain ranges run in a west-east
direction from the Indus to the Brahmaputra.

(b) Himalayan Mountain represents the loftiest and
one of the most rugged mountain barriers of the world.

(c) Himalayan mountain width varies from 400 Km in
Arunachal Pradesh to 150 Km in Kashmir.

(d) The northernmost range is known as the Great or
Inner Himalayas or the Himadri.

85). World Meteorological Organization is located
at-

(a) Geneva, Switzerland (b) Vienna, Austria

(c) Nairobi, Kenya (d) Rome, Italy

86). Consider the following statements about
Maulana Azad and select the false one-

(a) Azad was born in Bengal.

(b) Azad was a scholar of Islam and an exponent of
the notion of Wahadat-i-Deen.

(c) He was well-versed in many languages.

(d) He was opposed to Jinnah's two-nation theory.

87). Choose the incorrect statement regarding
'Alexander the Great'.

(a) He was the king of Macedonia
(b) He was born in 356 BCE

(c) He was taught by Socrates
(d) He died in 323 BCE

88). Lieutenant-Governer Michael O'Dwyer was
killed by-

(a) Madan Lal Deengra (b) Sardar Udham Singh
(c) Sohan Singh Makna (d) Kanai Lal Dutta

89). Which of the two personalities were involved in
the formation of the Home Rule League
movement?

(a) Bal Gangadhar Tilak and Lala Lajpat Rai
(b) Annie Besant and Bal Gangadhar Tilak



(c) Lala Lajpat Rai and Annie Besant

(d) Raja Rammohan Roy and Annie Besant

90). In which year Bengal was partitioned?
(a) 1910 (b) 1915 (c) 1905 (d) 1911

91). In which year National Leprosy Eradication
Programme was introduced in India?

(a) 1983 (b) 1956 (c) 1988 (d) 1970

92). Shukrayaan mission of India is related to which
planet?

(a) Mercury (b) Saturn (c) Venus (d) Mars

93). Chopra Tank is related to -

(a) Khajuraho Group of Monuments
(b) FatehpurSikri  (c) Rani-ki-Vav
(d) The JantarMantar

94). What does F stands for in the term
Government ..................... Consumption
Expenditure (GFCE)?

(a) Forecast (b) Finance (c) Final (d) Force

95). Recently which country has separated itself
from China's Belt and Road Initiative?

(a) Berlin (b) France (c)Panama (d) Ukraine

96). Recently which state government has approved
the Drone Promotion and Industry Policy 20257

(a) Uttar Pradesh  (b) Haryana (c) Punjab

(d) Madhya Pradesh

97). Recently, a permanent member of Shri Ram
Janmabhoomi Trust has passed away. What is his
name?

(a) Kameshwar Chaupal (b) Harsh Kumar

(c) RP Thakur (d) None of the above

98). Which of the following statements is incorrect?
(a) Gotipua dance is related to Odisha.

(b) Dalkhai dance is mainly performed by women
accompanied by male musicians.

(c) Chhau dance is performed by women only.

(d) Tiger Dance is performed during the Hindu month
of Chaitra.

99). Which of the following dance belongs to the
North-Eastern Region of India?

(a) Mohiniattam (b) Chhau (€) Manipuri
(d) Kathakali

100). If a person is restricted to enter in a temple
because he belongs to schedule cast, then which
of the following fundamental right is violated?

(a) Right to Freedom (b) Right against Exploitation
(c) Right to Equality (d) Right to freedom of Religion



